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Class:9th
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Choose the best answer.Cutting overwriting and use

- . |
' The order of matrix 17 11is;

a) 2-by-1 b) 1-by-2
c) l-by-1 d) 2-by-2
: Ifx,y,zé€ Randz<0thenx <y ---:
a) xz<yz b) xz>yz
c) ZX =yz d) None
3 The characteristics of 5.79:
a) 0 b) 1
c) -1 d) -2
‘ Conjugate of surd atbis ...
a) a+b b)a=vb
c) Ja++/b d) Va -~

Factors of 8x° + 27y3 dI‘C ......

a) (2x + 3y), ( 4\( ik 9y )
b) (2x - 3y), (4x -9y)
c) (2x +3y) (4x> 6xy, +9y?)
d) (2x - 3y), (4x + 6xXy+ 9y")

9 49 Y 30
H.CFF.ofa”-b anda -b is .....
a)ar-b » b) a+b

c)a +ab Hbt d)a—ab+b
" If x is p6arger than 10 , then ......
a) x=8 b) x<10
x<10 d) x>10
¢ P (-4, 3) lies on the quadrant ......
a) 1 b) II
c) I d) Iv

of inkremover is not allowed

ekl 1 Je

a) 2-by- 1 b) 1-by-2
c) l-by-1 d) 2-by-2
) e— ?yz(O X, y,ZGRﬁ
a) xz<yz b) XZ>yZ
¢) Zx=yz d) =ty
~65.79
a) 0 b) 1
c) -1 d)y -2
“a,i‘f@:/‘gah/g {f'ﬂﬁ"
a) —a+Jb b) a—vb
¢) Ja+b d) Ya-b
P T QA7 + 27y

a) (2x + 3y), (4% + 9yY)

b) (2x - 3y), (4%~ 9y)

¢) (2x +3y), (4% - 6xy + 9y,
d) (2x - 3y), (4x" + 6xy +9y")

° A triangle having all sides equal is called: ¥ Uy 4L U2 &u &l u,&"; ki L

a) Isosceles
¢) Equilateral

b) Equilateral
d) None of these
The symbol used for line AB is ....... :

a) AB b) 4B

¢) AB d) 4B
Diagonals of a parallelogram
other at a point:

a) Attract
c¢) Intersect

b) Repell
d) None

Any point inside an equidistant
from its arms, is on the bisector of it:

a) Side b) Angle
¢) Triangle d) Circle
" Non-collinear points determine a plan:
a) 1 b) 2
c)3 d) 4

A quardrilateral having each angle equal
to 90° is called:

a) Parallelogram b) Rectangle

c¢) Trapezium d) Rhombus

The right bisectors of the sides of a
triangle are
a) Concurrent

c) Collinear

b) Non-concurrent
d) Non-collinear
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